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ANSWERKEY

A) Tittle
The positive effects of family planning
Diagram

B)

2- -m-mmemmeee Latin America.

3- Middle East and Asia.
4-Healthy population.
6-prevention of mother death.

Any coherent answer can be accepted.

C) Cloze test

7- poverty

8 - witnessing

9 - drop

10 - empowered

D) Information transfer

11-percentage of the use of contraception in 2012.
12- percentage of the use of contraception in 2018.
13- 9%

E) Vocabulary
14- drive

15- dynamos

16- impressive.

[I- Linguistic and communicative competence
F-Underline the correct answers

17- healthier 18-to practise  19- despite 20- by
G- Compound words.

21- Measures which enhance productivity.
22- Countries which have the lowest income.

H- Dialogue completion
23- What's wrong with you? / Why are you here today?

N°1G33A19
Séries: S1-S2-S2A-S4-S5

Epreuve du 1° groupe

(01 mark)

(02 marks)

(02 marks)

(01.5 mark)

(01.5 mark)

24- Why don’t you use contraception? / What about using contraception?

25- Have you already talked ...



26-will agree
27-think
28-do they?

[I-Writing.

Relevance of ideas (1 mark)
Coherence and cohesion (1 mark)
Accuracy (1 mark)

Originality (1 mark)

Grammar (1 mark)



